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* Two statements are given followed by two conclusions numbered I and II.
Despite the difference in commonly known facts, investigate both the
statements considering them to be true. You have to decide which of the given
conclusions definitely follows from the given statements.

® ] Ihedl o 3TN &f Tk [ o 11 foU 77 2| 3119 =1 J1d a2t § =¥ 8 I oft
ST IhAT shl TSdTe, Tcd THEIRT shi| 3TTT dF i foh foT 7T wryl § & shi9-81
ffer w0 9 feu u aheat § 9 forarm w2

* Statements: All virtuous persons are happy. No sad person is virtuous. It :

ot Tgoft =3 feh e &) iS gt =afh wgoft e &)

®* Conclusion:

I. Happiness and virtue are related. II. A sad person is not virtuous. 75 :

* . SEIT ST HGOT T T EF-Y ) 11 3l ATk il A8l il &



®* Find the triangle in this figure

o 3 for #f Freger 1 i

A.10
B. 16
C.12
D. 14



®* Which of the following Venn- diagram correctly illustrates the relation ship
among the classes : Tennis fans, Cricket players, Students

o (TR T © ShIH-HT -G a1 oh sl Hee STETST ol Hel &/ ¥ RMIal & M|
ISR, fohehe RaaTe!, B




® 6 people are sitting 1n a row. A 1s sitting towards immediate left of B and
immediate right of C. C 1s sitting to immediate right of F. D 1s immediate right
of E who 1s to the left of F, then which two people are sitting in the center?

* 6 Tk Tk Ufth T S Bl A, B o 3ok 91 31X C o Sl 2@ 93121 C, F o 3ok <™
33121 D, EF 3 e @ S F o 9 =, d shid ¥ T 4f<h ohg H 83 27

A.Dand B
B.Aand B
C.Fand C
D.E and D




* If the letters of the English alphabet are
arranged 1n place of the numbers on the
dial of a watch in such a way that the letter
'D' comes 1n place of the number '6’',
similarly the letter 'E' comes 1n place of the
number '7'. If the sequence of changes
continues 1n the same way, then which

letter will come 1n place of the number '12'
and the number '3'?2(SSC CGL Tier-I)

* Jfe TL] o S T fErd 37ehl oh LA T
U JUTHTAT o eI I 39 TR &
ST T [T ST Toh 3k '6' oh TIM T
3T 'D' T Y, THT Yk 37k 7" €A T
37T 'E' 3T ST SR 30T off 36 Th ©
qiEd= T shH ST TR, df 3k '12' Td 37 '3
oh T U ShIH-HT 3T&R AT

A. JTIB

B. JTd K

C.Jug A

D.J@W@M



* Two adjacent faces of a solid cube are painted yellow and the faces
immediately opposite to them are painted red and the rest of the faces are
painted black. After this it 1s cut into 64 small cubes. How many such cubes are
there whose one surface 1s colored?(SSC CGL)

® Weh 319 T shl &1 3TTE~T Hdal shl et TT & TUT Yok 39eh! faudia aal sl ATd {19
AT IS Fal Rl hlet TTH T IR 2| 36k LT 36 64 BIE BT H RISl T 8l T
foRd = &, TSeh! Teh &de 11 58 22

A. 16

B. 24

C. 20

D. 28



® Sunil 1s the son of Kesav. Kesava's sister, Simran, has a son, Maruti, and a
daughter, Sita. Prem 1s the maternal uncle of Maruti. How 1s Sunel related to
Marut1?(SSC CGL Tier-I)

* GICT HHd T TF &1 FHd ohl a8, ToH o Teh T "1l SR I |iar 81 39 wrid
T HTHT 81 G 1 HIRIT & T TFa 27

A. HTHT

C. IdIST
D. YA HTS



*9,27,31,155,161,1127,7

A. 1135
B. 1288
C.316

D.2254




* Direction - Which set of the letters given below when sequentially placed at the
blank spaces will complete the given series?

o a3 - i<l Tt 3T 1 hi9-H1 THE Wicil TAMT 9L hAR W § &1 715 e
qa

N

*mc m a ca cac mc

A. acmmma

B. camcam

C. aaacmm

D. acmmmc



* BET=ROD, CAN=SIM & MUG=LAN, then what is MEN equal to?(SSC CGL Tier @
* BET= ROD, CAN=SIM & MUG=LAN &I, @ MEN ferres sireit gnm?

A. OLM

B. LOM

C. MOL

D. LMO



* Direction— Select the related word/letters/number from the given alternatives.
o faer- fau TC forshedi § ¥ Heiford STea/378H/EET i Tl
* TSAE: TSEW :: HTRON :?

A.HTUSO
B.HTUOS
C.HTOUS
D.HTSOU




* If 15th June falls 3 days after the day after tomorrow, which is a Friday, then
the last date of the month Which day will 1t take?

fe 15 S 9E1 o 3 foo o1a ugar &, S o Ssha &, @ 7 ot sifom fafer st
BT

A. 9T

B. AR




* Rohan walks 20 km 1n the north direction from point P. Then takes a right turn
and walks 10 km and then takes a right turn and walks 20 km to reach point Q,
then which direction is Rohan facing?

* U P foreg & I fawrm o 20 fohwt =rerelt 81 foht & et 10 et <refar & 31 fth
aTC HS AT & T 20 fohrl =retet foirg Q W Ug=IaT &, dl e o1 7@ fordt fazmm H 82

A. 3dUNorth

B. tIff/East
C. 2feu1/South

D. 9i¥H/West



* Some equations are solved on the basis of a certain operation. On this basis,
give the correct answer for the unsolved equation.

* % FHSLUTT oh! Ueh 21 ETsRaT o STUTR OX g TohT SITeT 81 396 SATIR W
YT FHIHTUT shl &l IT 2150

®[f73 * 17 =45 and 68 * 40 = 54, then

A.49

® 83*15=?
B. 64
SSC CGL Tier-I C. 69



® In a row of children facing north, Raghav is 12th from the left end. Suresh who
1s 22nd from the right end 1s fourth to the right of Raghav. How many children
are there n the row?

* I T X AW Toh U STl ! Tk Uk H, T o ®R W 1247 21 g1 Siifeh IR
BRY 2297 &, TH o SR AL <11 2| Ui | et fohe o=l &2

AV
B. 37
C. 36
D. 34




44

63
36
37

A.33
B.22
C.11
D.55



® Statements:

* No Spiderman is Superman. i3 TITSSTHA ‘{lﬁl’ﬁ?ﬁ%l

®* No Superman 1s Batman. ﬁégﬁl’ﬁ?aﬁ?ﬁél

* Some Spiderman are Batman. @ws@rﬁﬂrézﬁ:r%

® Conclusions:

* I. No Batman 1s Spiderman. IS SITHT WSS a1 2

* II. No Batman is Superman. ﬁé@?ﬂ@?ﬁ%l

* III. Some Supermen are Spiderman. g@ﬂq'{ﬁ? TITESTH &
* V. All Batmen are Spiderman. Ot SIgHT WSS &




® The age of the mother 1s thrice the age of her daughter. Six years ago, the age of

the mother was five times that of the daughter. What was the age of the
daughter 6 years ago? SSC CGL (Tier-I)

* H{ shT ATY IHh! Tt ol T W I T 81 ©: T T8, | shl ST T 3h1 AT € 4T
THT offl 6 9 TEet T St R AT ot

A 367TH
B. 1299
C. 6a9
D. 3099




